
§·¤æ§ ü / Unit-I

1. çmÌèØ·¤ â×¢·¤ô´ ·ð¤ Âý×é¹ dôÌô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð
çmÌèØ·¤ â×¢·¤ô´ ·ð¤ ÂýØô» ×ð´ @Øæ âæßÏæçÙØæ¡ ÚU¹è
ÁæÙè ¿æçãU°?
Describe the main sources of secondary data.
What precautions should be taken in the use of
secondary data ?
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ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ Üƒæé»é‡æ·¤ âæÚU‡æè °ß¢ »ýæÈ¤ ÂðÂÚU ×æ¡»Ùð ÂÚU
ç×Üð´»ðÐ

Note : Answer all questions. All questions carry equal
marks. Log table and graph paper will be supplied
on demand
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ÒÒ×ÁÎêÚUô´ ·ð¤ °·¤ â×êãU ×ð´ wz', yz', |z' ÌÍæ
}z' ×ÁÎêÚU ·ý¤×àæÑ G |z âð ·¤×, G v}® âð ·¤×,
G yz® âð ·¤× ÌÍæ G zwz âð ·¤× ×ÁÎêÚUè ÂýæŒÌ
·¤ÚUÌð ãñ´ U ¥õÚU z' ×ÁÎêÚU, G {®® ÌÍæ ©Uââð ¥çÏ·¤
×ÁÎêÚUè ÂýæŒÌ ·¤ÚUÌð ãñ´UÐÓÓ
©UÂÚUô@Ì çßßÚU‡æ âð â×æ‹ÌÚU ×æŠØ °ß¢ çmÌèØ ¿ÌéÍü·¤
·¤è »‡æÙæ ·¤èçÁ° (×ÁÎêÚUè ·¤æ çßSÌæÚU G ®-|z®
×æÙð´)Ð

“For a group of wage-earners 25%, 45%, 75%
and 85% of the wage-earners receive wages less
than G 75, G 180, G 450 and G 525 respectively
and 5% labours are receiving wages G 600 and
over.”
From the above information obtain the arithmetic
mean and second quartile (assume the range of
wages G 0–750).

§·¤æ§ ü / Unit-II

2. çÙ`Ù ¥æ·¤Ç¸Uô´ âð çß¿ÚU‡æ »é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

×ÁÎêÚUè (G ×ð´) ×ÁÎêÚUô´ ·¤è â¢BØæ

y} âð ·¤× z

z{ âð ·¤× vw

y}-{y w~

{y ÌÍæ ¥çÏ·¤ xv
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193_BSP_(7) (Continued)



( 3 )

×ÁÎêÚUè (G ×ð´) ×ÁÎêÚUô´ ·¤è â¢BØæ

|w-}® }

}® ÌÍæ ¥çÏ·¤ v~

}} ÌÍæ ¥çÏ·¤ z

Calculate the coefficient of variation from the
following data :

Wages (in G) No. of Workers
less than 48 5
less than 56 12

48-64 29
64 and above 31

72-80 8
80 and above 19
88 and above 5

¥Íßæ / OR

çÙ`Ù â×¢·¤ô´ ·ð¤ ¥æÏæÚU ÂÚU ·¤æÜü çÂØâüÙ çßá×Ìæ
»é‡ææ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

·ð¤‹¼ýèØ ×êËØ vz w® wz x® xz y®

¥æßëçîæ vz v| v~ w| v~ vw

Calculate Karl Pearson’s coefficient of skewness
based on the following data :

Central value 15 20 25 30 35 40

Frequency 15 17 19 27 19 12
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§·¤æ§ ü / Unit-III

3. çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) çSÂØÚU×ñÙ ·¤è ·¤ôçÅU ¥‹ÌÚU çßçÏ

(b) ÂýÌèÂ»×Ù çßàÜðá‡æ

Write short notes on the following :

(a) Spearman’s Rank Difference Method

(b) Regression Analysis

¥Íßæ / OR

çÙ`Ù â×¢·¤ô´ âð ¥æØé ÌÍæ çÙÚUÿæÚUÌæ ·ð¤ ×ŠØ ·¤æÜü
çÂØâüÙ ·¤æ âãUâ¢Õ¢Ï »é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

¥æØé ·é¤Ü ÁÙâ¢BØæ çàæçÿæÌ ÁÙâ¢BØæ
(®®®) (®®®)

v®-w® vw® ~®

w®-x® v®® |z

x®-y® }® {®

y®-z® {® y®

z®-{® y® wy

{®-|® vz v®

|®-}® } y
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Calculate Karl Pearson’s Correlation Coefficient
between age and illiteracy from the data given
below :

Age Total Population Literate Population
(000) (000)

10-20 120 90

20-30 100 75

30-40 80 60

40-50 60 40

50-60 40 24

60-70 15 10

70-80 8 4

§·¤æ§ ü / Unit-IV

4. çÙÎüðàææ¢·¤ ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð §â·¤è ©UÂØôç»Ìæ
ÕÌæ§° ÌÍæ çÙÎüðàææ¢·¤ ÚU¿Ùæ ×ð´ ŠØæÙ ÎðÙð Øô‚Ø ÕæÌð´
â×Ûææ§°Ð

Define Index Number. State its utility and explain
the main points should be taken into
consideration while constructing Index number.
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çÙ`ÙçÜç¹Ì â×¢·¤ô´ âð oë¢¹Üæ-×êËØæÙéÂæÌ çßçÏ mæÚUæ
¥æßÌü âê¿·¤æ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

ßáü
ÂýÍ× çmÌèØ ÌëÌèØ ¿ÌéÍü

çÌ×æãUè çÌ×æãUè çÌ×æãUè çÌ×æãUè

v~|| ~® v®} vyy vw®

v~|} ~{ vvw vw{ vvw

v~|~ ~} vw{ vy® vx®

v~}® v®y vx® vz® vyy

v~}v vw® vy® v{} vxw

Calculate seasonal indices by link relative method
from the following data :

Years
I II III IV

quarter quarter quarter quarter
1977 90 108 144 120
1978 96 112 126 112
1979 98 126 140 130
1980 104 130 150 144
1981 120 140 168 132

§·¤æ§ ü / Unit-V

5. ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ âð @Øæ ¥æàæØ ãñU?
ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ ·¤è ©UÂØôç»Ìæ °ß¢ ÂêßæüÙé×æÙ
×ð´ ÂýØé@Ì ·¤è ÁæÙð ßæÜè Âý×é¹ çßçÏØô´ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

( 6 )
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What is meant by Business Forecasting ?
Describe the utility of Forecasting and main
methods used in Business Forecasting.

¥Íßæ / OR

°·¤ ·¤Üàæ ×ð´ w âÈð¤Î °ß¢ x ·¤æÜè ÌÍæ ÎêâÚðU
·¤Üàæ ×ð´ x âÈð¤Î ¥õÚU y ·¤æÜè »ð´Îð ãñ´ UÐ °·¤ »ð´Î
ÂãUÜð ·¤Üàæ âð ÎêâÚðU ×ð´ ãUSÌæ¢ÌçÚUÌ ·¤ÚU Îè ÁæÌè ãñUÐ
ÌˆÂà¿æÌ °·¤ »ðÎ́ ÎêâÚðU âð ÂãUÜð ·¤Üàæ ×ð´ ãUSÌæ¢ÌçÚUÌ
·¤ÚU Îè ÁæÌè ãñUÐ ¥Õ ÂãUÜð ·¤Üàæ âð °·¤ »ð´Î
çÙ·¤æÜè ÁæÌè ãñUÐ §â ÕæÌ ·¤è @Øæ ÂýæçØ·¤Ìæ ãñU
ç·¤ ßãU »ð´Î âÈð¤Î ãUô»è?

Urn I contains 2 white and 3 black balls and
Urn II contains 3 white and 4 black balls. One
ball is transferred from the Urn I to the Urn II
and thereafter one ball is transferred from the
Urn II to the Urn I. Now a ball is drawn from
the Urn I. What is the probability that the ball
drawn will be white ?

———
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